MM

ML

NF series

CieFet 8x| =4 | s2|8 Mg

e

» O|M3H Elo| T1H|Z CitsH OrRElo| —
JHsstn 9i%| HZo| 02 20|

I~
Rl
o

SHO[EHMIA

NF
Foist Mx| 242 Ax| =H
- _ = _ - FH
£ &2|E EfY2 0 ZE BHE0| R10 mmZ S SI6HA| 2|2 EIU2 MX[SH IX[0f T2 FX| EoHME E2 3
FEE £ Qlo] M| 0|S0l|= O|MSt $IX| ZHo| TksELICt Zoil M $IXIE Z=H5Hs 20| Solghct UCT=CLA1
\ D2RF / D2GF
| D1RF /V2RF
Ly
P
i BRF /BGF
s2|20} gl BEY |
D3WF
O — . \
2|2 Bt
2|2 Bt
T p——
n ALY (RotE: BE9)
ZHE 72| (T2 mm) At 2E
45 s | oorr | e | FTEE | wE | 2
() (mm)
| i 470
450 ol
0 - 380 270 R=25
E*t 2 o w0 om0 NF-TBOS
. o N o)
) 220 80 R=10
120
©0.88 (SUS) M3 x 0.5 45
(sus) 22 WK oM 065
M8 %9 BES ATHEE 35 ~ 85% OI0:, ATHSE 85% RH 2T} 0 ~ 40°C T2I0IABH ALZ3H ZAIAIR,

www.ekaiskr | KAIS



SHO[H{ MIA|

ZEMAM

20| XAl

242 / 2[34M

SHZE

NF series

ZHE 72| (S mm) Al ==
#& sl FoleE  wx  Duy
FH D2RF | BRF (c) i)
@15 &2/2: 90 mm, =Z2|A 4000
‘ 1"900 30| H
- 0 5 15 2,000 1 900 1,000 R=25
2 \ \ 100 W | 450 | 40~ 70 . NF-TB03
st sa|8
1.5 (SUS) \ Ng22 1200 250 _
@245sus\ \ T s R=15
M4 x P07 SUS
180
@2.1 &2/2: 60 mm, LHIgH
60 27 2,000
s Lo L%“‘,’j/ °§'“§' 1.350
012 #s g9z e ! -
ol 2| x 1 T 1760 ong £tol
- 150 1,120 750 —30 ~ 350 R=25
= G sid [ -
b I 00 450 300 2= . NF-THO9
52.1 (SUS) 51 st —60 ~ 200 2|8
04 (SUS) | 22.9 (SUS) 630 220 R-10
22 1309) oleg sap (U2 =8 ¥3) 410
70 W4 x 07 (SU8 =97, % 2.4 (SUS) 120
T(?_. 22 Ux| 2tM @85 (SUS) 0t2g 2212 (PA)
-
@0.25 29 &2[=: 5 mm, Z2|AH
™ 27
Q u
25
10, 500 :
©0.25 (SUS) 35 21
s E 1 —40 ~ 70 R=5 NF-TPO1
012 i 2
M @32 (PVO) 3433 (PA)
Uz =z gs 7
2
20,5 gat 22 5 mm, Z2|3 170
"o
5 15 2,000
$0.25 X 1 = 80 80
‘ ’ ‘ % 0 30 —40 ~ 70 R=15 NF-TTO1
e e
\ 21 .
gossis\, \ pasus e
8
=
m ARQS (HIAFE @ BEE)
A& 712| (2H2: mm) A2 =g
gesl= FoleE | uy 1
FH D2RF | BRF (c) o)
@08 &2/2: 15 mm, &
15 15 1,000 ‘
99
@32 (PVC) e
EEL PO
- S i ) ;3203 69.5 . 305 o o
i 5
= 2 27 ‘ [’ = o " 20 —20 ~ 60 R=25 NF-DB05
Tl 5%;'%3 | e . .
?0.8 (SUS) ﬁ 40 14
M3 x 0.5 32 @37 016 \ @4\@2.2 20
A oo 22555018 "7
Eme: 00265 X 1 22 WKl 9N 065

SYEER KAIS, | SENSOR | Fiber Sensor




MM

M

NF series

A& 72| (22: mm) e ==
#asl= e urA =T
FH D2RF = BRF (c) (mm)
@082 &2|E: 15 mm, S E S5
15 15 500 "240
@0.125 X 9 (=25 — T i 6-u
120
g . #0985 o %
025 X 1 (F&)
55 &5 s 15 —40 ~ 70 R=4 NF-DT04
) =]l . =
2 e 60 15
EET RO AL im.z @1 ‘35
e o
2 @082/ /M3xpos /@3sus 122
SUS S8
30.82 €22 15 mm, 2HAIE Z2|H "l90 Sjo|EMIA
125
o 15 10 5 500 70 0 NF
Loy o \85 \ : o " 10 —40 ~ 70 R=4 NF-DT02
" 5 FH
oozesss / e fo25% \o R 5
M3XP0.5 SUS 25
8 UC1-CL11
@1.48 £2|2: 40 mm, Z2|H D2RF / D2GF
40 12 2,000 195 D1RF / V2RF
o= B o5 (20) 180 Stol
da® YAl g4 Fioﬂ.f‘ 160 110 R=25 BRF / BGF
S — o 0 40 —40 ~ 70 NF-DB08
31.48 (SUS) s-s ; sal8 D3WF
90 30
225 / : R=10
1 2 F
305x2 M4 x 0.7 24 (Pv0) 21 x 50
(R SHLET 5024 s
00 A3R zZUH 22 Wl 2N 985
=
ol
@15 &2|=2: 28 mm, Z2|Z “iso
“240
285, 152000, 220 100
205x1 (FEF) N7 [ T1 | oo o 45 —40 ~ 70 R=15 NF-DTO5
[=gnig=) / 3-5 Fas
005%x1 (F2) @1.5 (SUS)\ z4 N ‘1‘20 30
3| | @25(sus) M4 x PO.7 SUS 50
6
q A I E
= @g15%2=: 90 mm, Z2|H iy
240 EE
BO5X1 (TS ) 220 120 R=15
190 50 45 —40 ~ 70 . NF-DMO03
120 30 P10
" 60
e
@1.48 £2[2: 40 mm, EHAIE, Z2[A
;_TO 12 2,000 _‘ o
- 10 F{%E{P‘ 10‘5}‘ ‘ ‘,1‘:35 i}O“ﬂ
110 60 R=1
/ 9148 (SUS) o " 30 —40 ~ 60 - NF-DR10
3-5 Fa: ==
M4 x 0.7 (SUS) a7t 27 Snioa ? . 65 7 1o
ZHEE AN X P
A 22 4x| 244 085 30
10
Zle| 30] stol FELE ST
(@0,05 x 151) x 2
MNE 8 &= HUEE 35 ~ 85% 0|0, MthEE 85% RH M 0 ~ 40C TZHOIMTH ALSSH AL,
HIAFS QIO & 72| 500 x 500 mm 27[9] #iAH Z0| 7[Z=QiL|ct

www.ekaiskr | KAIS



NF series

A& 72| (T mm) A8 =g
EER S Fgjgs  wE | pum
FH D2RF = BRF () (mm)
1,110
1,050 stolu
= 910 750 -30 ~ 350 R=25
= 800 250 200 E= NF-DHO5
s—s7 —-60 ~ 200 ECIE
(sUs) 520 & R=10
190
22| W) 9k 085 (SUS) M4 x 07 (SUS) %0
Slo[HMIM 2t 7= 7, S 2.4 (SUS)
ZEMAM
@25 &2|2: 40 mm, Z2|HA
2| 0| X MIAf
40 15 2,000
AN A L 20) (75) 680
~10% @ o 71015 - A o
S22 \ ‘ — 630 310|by
= ) N —
pabSk=== WIS wz?sﬁ 3 — '5?0 400 R=25
@35 @6 (PVC) 022 %2 480 240 130 —40 ~ 70 NF-DB06
st . =]
ZonHIA VB x 075 (L2 =2 &%) EXLE10.2 320 110 E:io
55 22 Ux| 2tM 985 (SUS) w§o
of2 / 2|3MA 70 °0
=
= IJ
SAZE
@25 &2/ 90 mm Z2|H
1,100
05 15 2,000 e Efole
wao s -
,‘f‘flT gfflff '—T—‘\ 750 450 R=25
= ST -G
© = 650 “Se0 150 —40 ~ 70 NF-DB02
= 025 SUS sl 1 =EII=]
24 \ 22 450 100 20
21x1(58%) M4 xPO7 SUS | 6’y PO.75 SUS "500
80
?2.8 £2/2: 60 mm L&
ZOIE (LA =3 85)
wt 2s 9
o 2,000 ] 950
605 _ 167, 183 o u _
= 900 3ol b
780 650 -30 ~ 350 R=25
e s | 300 T NF-DHO04
e —60 ~ 200 ECE!
450 80 R=10
200
M6 x 0.75 (SUS) 9
22 Ux| 2tM 911 (SUS) of2g Z2{1 (PA)

SYEVAR KAIS, | SENSOR | Fiber Sensor




MM

NF series

A& 72| (2l mm) Mg =E
HE = Fo =2z qrz Dy
FH D2RF = BRF () (mm)
@#0.5 £2/2: 3 mm
J37
_Zrn—|=.=|—y—y—|=..=g:[ yvzs77)
505 ~315 1,000 2,8
o 26
(sus) (20) 20 100 .
o 35 23 18
s 953 18.3 5o s 3 —40 ~ 60 R=10 NF—DPO1
° = 13 WA
|l 2 Sl
015 (U2 =3 85) 92 (PVC) 837\ go, 3
. 5433 (PA) 1 ,
dss Slo[HAIM
AbM| @0.125 X4
NF
FH
@0.82 &2|2: 5 mm, SIS
UCT-CL11
190
125 ) D2RF / D2GF
EEL RO 2 75 40
%x1 (2L - . _ =
fozx1 (387 18 65 510 40 ~ 70 R=4 NF-DRO5 DIRF / V2RF
:u:[@ S
90.25 x 1 (F % ) ' 93 8Us 012/ 2
= ©0.82 SUS 9l Hap SUS “—54 25 BRF / BGF
%0 :
“-SJ D3WF
I
m A .
Q  @0.82&2/E: 80 mm
90
sms 15 1,000 50
AS5 MA .
00252 & 15 10 45 35
ooz 03, |012| 03 JJ_% e | g 7 ~40 ~ 70 R=25  NF-DRO7
ch; g12 5 “o
&2/ sUs303 SUS304 ok i
3l = SUS303 74| pom/ 921 10
4
@15 &2|2: 20 mm, Z2|31
400
‘2"00
190 100
< syxm 005X2 20 15 2,000 . B
(S} f'f"* ‘ ‘ ‘ | 60 0 45 —40 ~ 70 R=15 NF—-DK43
@ [ e — “100 "2
215 241 \ sussos @1 50
16
MNE T8 == ST 35 ~ 85% 0|H, MUi&E 85% RH Y 0 ~ 40°C 7ZHIAM2H AL FAANL,
BEARE EFRI| A& 7{2l= 500 X 500 mm 27|9] A F0| 7|=Lc

www.ekaiskr | KAIS



